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1. Before attempting the question paper, kindly
check your Question Booklet (QB) and
O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- Allpages and all questions are properly
printed.

In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.

2. Readallinstructions on the reverse of O.M.R. Answer Sheet.

3. OnO.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

4. Allquestions carry equal marks. For each wrong answer 1/3 mark of the
question will be deducted.

5. Ifmore than one response is marked for a question, it would also be treated
as wrong answer.

6. Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
‘Question not attempted'.

7. Toindicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
question then the fifth option/circle ‘E’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

9. Ifacandidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

1. Ifthereis any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
treated as final.

12. Use of Mobile Phone/Bluetooth Device or any other electronic gadget in the
examination hallis strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.I.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to¥ 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.
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T I1E 3T ALHIT ST BT TATARTd | H 6T

THIT & TG BATHR & ?

(A) TR (B) watg
© == (D) dgaet
(B)  3rgaia ued

3T UTSd A T B TSpET Y BT HHT: 40 Fiee e
50 T & W gt 21 afe i a1gd T T et
Mg Al Feha 9 (ST /) & T IT2T A BT 9 fopar

ST e o6 29t 30 fiee / W STy 2

(A) 15% (B) 16

) 14 (D) 15

(B) 31aRd 99

I=T AT & AW T Bt i & A,
W &7 TEAT T A G Tt s :

(A) et

(B)  WerTHT

(C)  HETHEA

(D) WA o = ~TATeTeT

(B) 3raRd wed

HIET HE I ST & § [T gt
H gy AT AT |

(A)  ToeE (B)  wiEarST

© g (D) WATHTG

(B)  3rqaRa e

TSTRAT | BIATT BT TET HaT RIAT S 2

(A)  FTATaTS (B) AWR

© (D) <%

(B) 3raRd wed

e -gag T RIS, 97 §9 F TR &
frafafaa # 9, few g ot e Bt g 2

(A) A (B) ETATTE
(© B D) R
(B)  3rIand wed

Mangi Bai and Lakshman Das Kamad are the
prominent dancers of which of the following dance
forms ?

(A) Ghoomar (B) Bhavai
(©) Bum (D) Terah Taali
(E)  Question not attempted

Two pipes A and B can fill a tank in 40 minutes and
50 minutes respectively. If both the pipes are
opened simultaneously, then after how much time
(in minutes) should pipe A be closed so that the tank
gets filled in 30 minutes ?

(A) 15% (B) 16
© 14 (D) 15

(E) Question not attempted

For appointment of the Chief Justice of a
High Court, the President of India consults
the:

>

) Union Home Minister
B)  Prime Minister

(
(
(C©)  Chief Minister
(
(

)

) Chief Justice of India
E)  Question not attempted

The Mahi Mahotsav is officially celebrated in the
region of Rajasthan every year.

(A) Sirohi (B) Banswara
(©) Dungarpur (D) Pratapgarh

(E)  Question not attempted

Where in Rajasthan is the Kolana Airport located ?
(A) Jhalawar (B) Nagaur

(©) Sikar (D) Tonk

(E)  Question not attempted

The Sidhmukh-Major Irrigation Project primarily
benefits which of the following regions in
Rajasthan ?

(A) Bharatpur (B) Hanumangarh
(C©) Bikaner (D) Alwar
(E)  Question not attempted
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11.
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frfaRad # & fpw 1fvweres I & < srfafsear
& qRorreEErey fazerma srfufrar gntt 2

(A)  NaCl faera= iR afareng

(B)  FeSO, Tarerar 3t aterm e
(©)  AgNO, T 3 qtam &g
(D)  CuSO, faeram T =iEt eng
(B)  3rIaia ued

“ITT I BAART” (SAF FATN HT TE) fopaa feraam
aqT 9

(A)  fosEEE SR

(B)  TUHE M

(©) T diga

(D)  TTHA ST

(B)  3raRd 9o

1428 H FIF-TT BIET A SIS AT BT S T U1
@3, 4, 5 3R 6 A Yo [T gRtt 2

(A) 9 (B) 12

© 15 (D) 18

(B)  3raRd e

TRA H FRET 59 & AeTiadar (Vgathe SHI) St
e i a1 2

(A)  regufd

B) 39 ST T A=IHAT

C) TSI HTHEA AAY

D) 39 ISY HTISTITA

E) 3raRa ued

“TITRT” THFTaRad # & GIfid ared= St e gt
& AN TITBd [FATATATES 2

(A)  HFEEE AT (SETwE)

(B) T AT (BISTBIA)

(O  ar T (TRIBH)

(D) fTcett aTer (FesiThi)

(B)  3rIand wed

10.

The reaction between which of the following pairs
of reactants, will result in a displacement reaction ?

NaCl solution and Copper metal
(B)  FeSOy solution and Copper metal
(C)  AgNOj solution and Copper metal
CuSOy solution and Silver metal

(E)  Question not attempted

“Batan Ri Phulwari” (collection of folk tales) was
written by :

(A) Vijaydan Detha
B)  Nathmal Joshi
C) Kanhaiyalal Sethia

) Shyamal Das

o

(
(
(
(E)  Question not attempted

What is the least number which should be added to
1428, to get the resulting number exactly divisible
by 3,4,5and 6 ?

A) 9 (B) 12
(© 15 (D) 18
(E)  Question not attempted

In India, the Advocate General for a State is
appointed by the :

A) President
B)  Chief Minister of that State

(

(

(C)  State Minister of Law

(D) Governor of that State
(

E)  Question not attempted

The “Nagara” is classified under which of the
following categories of musical instruments ?

A) Idiophone

B)  Chordophone
)  Aerophone
D) Membranophone

(
(
(C
(
(E)  Question not attempted

P.T.O.
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13.

14.

15.
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-1 3T -2 BT HATH BT :

-1 -2
(AT UM F AN | (AT TYOTGRT ST
5 1 Ryfe) e TSIel T THTY)
(@) |sFAE () |=Et (fawaria)
EIRICE)
(b) |TRdTHE (C) WX | (i) |T%T & AT IMHR
EARIGIEE]
(© |wiwd (F) 3 ga | (iii) | 3rcd o (Tog-
P) F AT H BN BT HiTre)
(d) |EsRdaTSg (C) AU | (iv) | T ¥ BieT Fidtes
A e U ferepedl & & W& 39X BT T BT ;
(A)  (a)=(i), (b)-(iii), (c)-(iv), (d)-(0)
(B)  (@-(iv), (b)-(i), (c)-(1), (d)-(iii)
©)  (a)-(ii), (b)-(1), (c)-(iv), (d)-(ii)
(D) (a)-(iii), (b)-(ii), (0)-(i), (d)-(iv)
(B)  3rfana ued

HRA T ST (2011) B FTIAR, T &
frferiaa 9 9 opw TS &) STHET 29T ar gig

3T (2001-2011) T H T FHH AF 2
(A)  #NETR (B) aTgHY
©) = (D) T
(B) 3raRd wed

VTR 1 ST (2011) F FTAR, TSI T H,
rfeTiad 7 o T FSiel St ST (F ) 9
HH AT ?

(A)  TerEHS (B) aTgHY
©) SwER (D) =%
(B) 3raRd wed

HRTST T A 78T AR T3t Bt Tgam=+ | WeH
ITHIOT HIF-TTE ?

(A) ST, (BCR)

(B)  3.UAIMN. (OMR)

(©)  IHLIMW. (OCR)

(D) TH.UHEN (SSD)

(B)  3rIand wed

12.

13.

14.

15.

Match List-1 with List-2 :
List-1
(Position of object in
front of concave
mirror)

(@) |AtInfinity ()

List-2
(Size of image formed
by concave mirror)

Enlarged

(b) |At the Centre of|(ii) |Same Size as the

Curvature (C) object
(c) |Between Focus (F)|(iii) |Highly
and Pole (P) diminished (point
sized)
(d) |Beyond Centre of|(iv) |Diminished

Curvature (C)

Choose the correct answer from the options given
below :

(&) (@)=(id), (b)~(iii), (c)-(iv), (d)-(0)
(B)  (a)-(iv), (b)-(ii), (c)-(), (d)-(iii)
(© (@)=, (b)-(), ()-(iv), (d)-(iD)
(D) (a)-(i), (b)-(ii), (c)-(), (d)-(v)
(E)  Question not attempted

As per the Census of India (2011), which of the
following districts of Rajasthan had the lowest
decadal population growth rate (2001-2011) in
percentage ?

(A) Sriganganagar (B)
(©) Karauli (D)

Barmer
Dausa

(E)  Question not attempted

As per the Census of India (2011), which of the
following districts had the lowest population (in
numbers) in Rajasthan state ?

(A) Rajsamand (B)

(D)

Barmer
(C©) Jaisalmer Churu

(E)  Question not attempted

Which device is able to recognize alphabets and
numbers printed on paper ?

(A) BCR

(B) OMR

(C©) OCR

(D) SsD

(E)  Question not attempted
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17.

18.

19.

20.
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IRTICAT TATHTAT & ThT AT H ARETG Udd e Rerd
27

(A)  Sfgror-gdtyert g
(B)  wex IRTAAT
(C)  gigroft 3Taett g
(D) SR SR gt
(B)  3rIaia e

BTG TE 2, T HA 1 oo st Aepar 8, Afep
afs a8 frgfem @t fafa @ & Wfia T
faereee &1 gee fraitad =& gar &, af 39 95
BISHT IS 2|

(A) o6dHE (B) 12¥mE
(©) s8=ME (D) 15#E
(B)  3rqaid e

AT TSI TSTRAT o [ 417 | Wl feTd U ofih
T AT ?

(A) ST

(B) SR

© IR

(D) SR

(B) 3raRd wed

32,500 = TTT FTEMLOT TS 9% 3 T8 H T 3,250 B STt
Tl g Ui wR, gt aT A 2 a T Tehgly st A
EOTT 2

(A) ¥ 550 (B) %500
(@ 510 (D) %525
(B)  3raRd e

TS = 7 & EAT SISAT I TFH-2025 H HIA-8T
FATH T {63t 2

(A) T (B) wuH
© Y= (D) qdt
(B)  3raRd e

17.

18.

19.

20.

In which part of the Aravalli range, is the Taragarh
mountain peak, located ?

(A) South-Eastern Plateau Region
(B)  Central Aravalli Region

(C)  Southern Aravalli Region

(D)  Northern Aravalli Region

(E)  Question not attempted

Under the Indian Constitution, a person who is not
a member of the State Legislature may be appointed
as a minister, but if he/she is not elected to the State
Legislature within from the date of
appointment, he/she must vacate the office.

(A)
(©) 8 months

6 months (B)
(D)

12 months
15 months

(E)  Question not attempted

Alibakshi Khayal is the prevalent folk drama of
which region of Rajasthan ?

A)  Jaisalmer

B)  Jodhpur

(
(
(©) Alwar
(D) Udaipur
(

E)  Question not attempted

A sum of ¥ 2,500 on simple interest becomes
% 3,250 in 3 years. What will be the compound
interest on the same sum at the same rate of interest
after 2 years ?

(A) 550 (B)
(©) X510 (D)
(E)  Question not attempted

% 500
3525

What position did Rajasthan secure in the 7th Khelo
India Youth Games-2025 ?

(A) Second (B)
(C) Fifth (D)

First
Third

(E)  Question not attempted

P.T.O.
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22.

23.
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r=feiad & & F6Y ATEST+1® A8l & 93 § 937

qIT-2025 T FHATHT FFITITATE ?

(A) it sl W

(B) =T WM™ e

(©)  hrgfte AR A

(D)  #IHAEH

(B) 31 aRd e

TERT 6T, ATaRad | ¥ Hi-7 BT qiisr
& AT AT HTSHT TEN BT 2

(A)  #RRTETE (B) wTEHT
(© PR (D)  weArat
(B) 3raRd wed

Friaiad o 9 S19-97 T T h HiFedaT et
g9

(A)  TgaTEs

(B) USHEwICIeNT
© SiramgTAd
(D) THTE.¥E
(B)  3raRd e

JeaqR, Toeitere, TSwHE S SIRGY TSR &
FrfeTiaa 9 o T e T fee 2 2

FrAfeTiaa faeheat # & W SUga I A :

(A) wETS (B) erEtdt
© == (D) wa©
(B)  3rfana e

P AT ThgIG AT HI BT ST 9T 3 99 F
% 6,65,500 31T 5 9 H T 805,255 & STl & | Ffe ST
TTF TSt &Y TR 8, a I8 TRTFTE 2

(A)  ¥5,25,000 (B) ¥ 4,80,000
(C)  ¥4,92,000 (D) ¥ 5,00,000
(B) 3raRd wed

21.

22,

23.

24.

25.

Who among the following, has been conferred the
Padma Bhushan-2025, in the field of Public
Affairs ?

(A) Smt. Arundhati Bhattacharya
(B)  Dr. Sitaram Jindal

(C)  Shri Sushil Kumar Modi

(D)  Shri Ram Naik

(E)  Question not attempted

Which of the following districts of Rajasthan does
not share a border with Pakistan ?

Barmer

Phalodi

(A) Sriganganagar (B)
(C©) Bikaner (D)

(E)  Question not attempted

Which of the following is not an Application
Software ?

(A) QBASIC

(B)  Adobe Photoshop
(©) GIMP

(D) MS Word

(

E)  Question not attempted

Udaipur, Chittorgarh, Rajsamand and Dungarpur
are part of which of the following regions of
Rajasthan ?

Choose the most appropriate answer from the
options given below :

(A) Marwar (B)

(€)  Braj (D)

Hadoti
Mewar

(E)  Question not attempted

A sum of money becomes X 6,65,500 in 3 years and
% 8,05,255 in 5 years at certain rate of compound
interest. If interest is being compounded annually,
then what is the sum ?

(A) <5,25,000 (B)
(C©) 492,000 (D)
(E)  Question not attempted

< 4,80,000
% 5,00,000
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27.
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29.

30.
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TR # ¥ fhae, TS & &I & ¥ H
T T QT T T 2

(A)  SETETY TRt
(B)  ERTCIT QT
©) SHTTHUEA
(D) =i g rETad

(

E) @i ued

TS & Hel [ Tged S ferd 7 719 918U 5T 9ed
TR <Ieh W FEATI BRI ITIT T 2

P fapd <=0

(B) Ul EAAIN HR & g

Q) AT g e

Tadta Afte-e 35 @i

E) 3 aRd 99T
=TT 3T TRTEA T HA T Tl AHAL |, FAHAT BT

T TATEHR HI BT ?

(A) TS 3T AT &% {ST ATIATENLT
(B) qE

©) TSI

(D) TSI F A AT

(B)  3raRd e

fr=faiad & 9 fpae T & ®ier | 1857 #i

STl BT e [5haT 4T 2
(A)  THITE R @r
(B) e g

O wIA™E

(D) #ETE @A

(B) 3raRd wed

A, B 31X C o THT {921 % AT AR 9 B S
HEM g, B = 319 {-a27 1 50% TRT 67 3T foaar
TeRaT T C = 319 THART ST 20% TMT BT AT 79T
TepaT| a9 o 3T H IS A BT T 22,800 ATHILT FoeT,
A ATH AT B |

(A) % 81,700 (B) % 78,600
(C) 79,500 (D) 80,920
(B) 3raRd wed

26.

27.

28.

29.

Who among the following, had taken oath three
times, as the Chief Minister of Rajasthan ?

(A) Jagannath Pahadia

(B) Heera Lal Shastri

(C) Tika Ram Paliwal

(D)  Bhairon Singh Shekhawat
(E)  Question not attempted

Name the first person who belonged to Rajasthan
and he was awarded the Param Vir Chakra ?

(

>

)  Captain Vikram Batra

(B) Company Havildar Major Piru Singh
(©) Naik Jadunath Singh

(D) Second Lieutenant Arun Khetarpal

(

E)  Question not attempted

Who acts as the principal advisor to the Chief
Minister, on all matters of policy and
administration ?

A)  Chief Justice of the State High Court

B) Home Minister

(
(
(©) Governor
(D)  Chief Secretary of the State
(

E)  Question not attempted

Who among the following led the Revolt of 1857 in
Kota, Rajasthan ?

A) Ram Gopal Singh Kharwa
B)  Kushal Singh
)  Hardayal Singh

)

) Mehrab Khan
E)  Question not attempted

(

(
(C
(

(
A, B and C entered into a partnership by making
equal investments. After 2 months, B made an
additional investment of 50% of his initial
investment and C made an additional investment of
20% of his initial investment. If at the end of the
year, A received X 22,800 as his share in the profit,
then find the total profit.

(A) 81,700 (B)
(© 79,500 (D)
(E)  Question not attempted

% 78,600
% 80,920

P.T.O.
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35.
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fr=feiga Afgat & d f69 ‘g9 & smem

(Z19 37T BHEE) & 718 T W STAT AT S ?
(A) A (B)  wBTetiter
© (D) URedr

AT
(B)  3rgaia e
THIHT F 7 IO & SR, Jeg (JeX) TRAT H

TS gIMAT :
(A) 30 T 1952 (B)
(C) 30 AT 1950 (D)

(B)  3raRd e
W o Flaer= &1 a7 S aret @i a9 |

fepa=T AleAT T 41 2

30 AT 1949
30 AT 1951

(A) 30 (B) 20
C 24 (D) 15
(B) 3raRd wed

Tarea TafaRor fgaw 2025 ffaRad # & fhe q5 o
T AT ST B G AT AT 2

(A) MG B ATRRATTS T

(B) St ool USTTar T HIGTOT

Q) ATRTH UGHT I FHAT HIAT

(D)  WHET TSI T 8T

(B) 3raRd wed

T e SR T BATE

e Tarepedt # 3 T Sage ST I

(A) T H OICTTTH Ft Afersar

(B) T H I I I 3TTrBar
Q) T H EFIAIEA I et
T F Tt o e @ stferssar

(B)  3rfana e

AR WITIT HT BIA-HT TS ANAD Bl o
Tefua® 2

(A)  3rT=sT 51 (B)
©) IT=WI51A (D)
(B) 3raRd wed

ITHT42 A
ITTET 244 A

31.

32.

33.

35.

Which of the following rivers is also known as
“Van-Ki-Asha’ (Hope of Forest) ?

(A) Luni (B)
(C) Banas (D)
(E)  Question not attempted

Kalisindh
Parbati

During the 7 stages of its integration, Greater
Rajasthan was formed on :

30th March 1949
30th March 1951

30th March 1952 (B)

(©)  30thMarch1950 (D)
(E)  Question not attempted

How many women members were part of the
Constituent Assembly that formed the Constitution
of India ?

(A) 30 (B) 20
< 24 (D) 15
(E)  Question not attempted

The World Environment Day 2025 was celebrated
with a special focus on which of the following
issues ?

A)  Ecological restoration of wetlands

B)  Conservation of big cat species

(

(

(C©) Ending plastic pollution

(D) Marine species conservation
(

E)  Question not attempted

Jaundice is caused due to :

Choose the most appropriate answer from the
options given below :

A)  Excess of potassium in the blood

B)  Excess of uric acid in the blood

D)  Excess of bilirubin in the blood

(

(

(C)  Excess of hemoglobin in the blood
(

(E

~

Question not attempted

Which of the following Articles of the Constitution
of India deals with the Fundamental Duties ?

Article 42 A
Article 244 A

(A) Article 51 (B)
(C) Article51 A (D)
(E)  Question not attempted



37.

38.

39.

40.

41.
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Th TR AT T & 8 kmn/h F AT TATHABATZ | TS
TS HIRTBIIT 2 kmn/ h Z AT T T TF AT
AT 3T AT 37 | 2 TS BT /Y T &, Al I8

T R gl (km ) W 2

(A) 775 (B) 7.25
© 75 (D) 7.6
(B) 31 aRd e

TR H 1 H Ao AR 3199 10 3u-a =1 & o

ST STTATE 2

(A) Wl (B) =

© =™ (D) o

(B) 3raRd wed

ARG H BT 757 [T TRog &7 959 99 &
T e 3Tar9T S T 2

(A) 45T (B) 257%

© 3oay (D) 35a9

(B)  3raRd e

S 2025 ® frAfaiad # @ ot Tomem o |ar
T BT Sreet g T ® 2

(A)  u=TaE

(B) Sl I ETR

(© =TT

(D) RafEEweE

(B)  3raRd e

o [Nl aN

et iad § § fope WA To9 § 9 AT § fede

[EBIEEECKE

(A) ER=mn (B)  dwTAT
©) foEr (D) wAle®
(B)  3raRd e

40.

41.

A man can row a boat at 8 km/h in still water. If the
speed of water current in the river is 2 km/h and he
takes 2 hours to row to a place and come back, then
how far off is the place (in km) ?

(A) 775 (B) 7.25
Q) 75 (D) 7.6

(E)  Question not attempted

Which river basin in Rajasthan is known for its
10 sub-basins ?

(A) Mahi (B) Chambal

(C) Banas (D) Luni

(E)  Question not attempted

What is the minimum age requirement to be a
member of the Vidhan Parishad (Legislative

Council) of a State in India ?
(A) 45 years (B) 25years

(C) 30years (D) 35 years

(E)  Question not attempted

Who among the following has been appointed as
the Chairman of the Rajasthan Public Service
Commission in June 2025 ?

(A) Bhupendra Singh
(B)  Utkal Ranjan Sahoo
(C) Sangeeta Arya

(D)  Shiv Singh Rathore

(E)  Question not attempted

Which of the following Indian States currently does
NOT have a bicameral legislature ?

(A) Haryana (B)
© (D)

(E)  Question not attempted

Telangana

Bihar Karnataka

P.T.O.



42,

43.

44.

45.

Frferiad & ¥ F6 3ie BT ‘T S’ & AT I ot
STATSTTATE 2

(A)  I=HT (B) IoHHE
© SOuEE (D) Tt
(B)  3rfand e

e & ¥ S, o §, FHESAT 99 F
TEATIF 2 2

(A)  SEARETST
(B)  HfeerTerstt
© TSt

(D) =St

(B)  3raRd 9o

egey faam aRwTies ersaTaet H, Tw TF < O
(SMTP) FT YT &IZ :

(A) | HA A TS THIA

(B) U 7 ZIAWR HICBIA

(© W AA TS HSh i

(D)  FHuet #e ZrAUIE el

(B) 3raRd wed

ARATT AT & forg fafha 3t S=est 2025 # @tear
e ST ATt S g3 R Wi BT AT T E ?
(A)  3TE.TA.0H. qHI

(B)  3TSUA.TH, 3B

(©) ETATH FET

(D) 3T, QTfert

(B) 3raRd wed

$% DB29 10

43.

44.

Which of the following lakes is also known as the
‘Dhebar Lake’ ?

(A) Pushkar (B)

(D)

Rajsamand

(©) Jaisamand Pichola

(E)

Question not attempted

Who among the following is the founder of the
Kamadia Panth in Rajasthan ?

(A) Devnarayanji
(B)  Mallinathji
(C©) Pabuji

(D) Ramdeviji

Question not attempted

In computer science terminology, the full form of
SMTP is:

(A)  Source Mail Transfer Protocol
(B)  Simple Mail Transfer Protocol
(C)  Source Mail Transport Protocol
(D)  Simple Mail Transport Protocol

Question not attempted

What is the name of the second multi-purpose
vessel built for the Indian Navy and launched in
January 2025 ?

(A) INSSamarthak

(B)  INS Utkarsh

(C©) INSSamrat

(D)  INS Shakti

(E)  Question not attempted



46.

47.

48.

49.

frfeiad oTegl & 9 “30a 9Teg BT U IaTH el
g

@n a7

() A

() W=

(V) ST

(v) fafe

T fau e faspeat § A We SUgER 3T HT 994
IS :

(A)  FHIA (1) 3R (IV)

(B)  &ad (I1) 3T (IV)

(©)  Fad (1) 3R (1)

(D) e (I1) 3T (V)

=

(B) 3rfanra wed
TR 9768 H HI-ATITANE 2
(A) R B) fw
© = D) 7
(B)  3rqaRd wed

“TTT BT TET @A & A7 Eed-AY 3
TR |7 — o T H B 1=~ [T JT g3 E 2

(A)  SrdATHS faereor
(B)  HEHTaTH® faerwOr

(©)  aRHAToETES o
(D)
(

ToTETE faerer
E)  3raRd oA
TRIETA” 916 o 17T 3o aTaien e :

(A)  STrgEel S adiemaarar

(B) e T
(C)  Toraest it odtem &l eft g &
D) SrodenF AT AL

(
(B) 31 aRd wed

$% DB29
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50.

51.

52.

54.

Teh STIHTII T H I-J1 707 & &1 =17 2

(A)  gofar (B) weam
(©) fHeoaredar (D) edar
(B)  Irana ued
TR 7 & s a2

(A)  WITEE A ST BT AT §e E |
(B) ¥ foTq ¥ Ik 3T T AW AT |
Q) U =X WA IHMT |

(D) #Y T feraT Fgt & 31mar |

(B)  Irana ued

Trtaied § ¥ e 9t & 969 TopaT &1 v
LSRN

(A) W ied geRTar gl
(B) e fehehe WeAaT 2|
© ggfaa ugETz |
(D) ST MAIETR|
(B)  3raRa ued

TrfeTiEd # o 19|71 919, “BIETAS HabIe” H
IIEIITE ?

(A) TEHFATEAFILE |

(B)  TEN AR H UG 2 |

(C) =& 3T R IR BT T TeT |

(D) ¥ UgdT, AT [&is W1 TS |

(B)  3rqaRd ued

‘GLOBALIZATION’ % ToTT 3ot fadt ers3 2 :

(A)  TEIHIT (B)  fawgtemzor
(©) eI (D)  gedIROr
(B)  Srand ued

P.T.O.



55.

56.

57.

58.

S + T B EIER

(A)  TEw (B) =T
© =ar (D)  zdsT
(B)  3raRa wed

TEHNT O § FaeT ¥ AU g § Rewet wan
fpaTSTaT® 2

(A) wER™ (B) WAt

Q)  mer (D) e

(B)  3raRa wed

efafEa AT g o

(A) AT (B)  faeramy

©  3ofad (D) 3rqHet

(B)  rana wed

-1 T Ft-2 % T A= FHHTT
-1 -2
(TI™) GIERLLEEIED))

(a) [TewaTE® (i) |[FEIarREITETR ?
REEIL]

(b) |stfemgaTa® (i) |H 319 e =
A ST |

() |[deTaTa® (iii) [FBZ ST |
REEIL]

(d) |FsraTs (iv) |3MSThet T LT L&l
eI Z

T faT T fepent # ¥ 9e ST TR BT 99

(a)-(ii), (b)-(iv), (0)-(iii), (d)-(i
(a)-(iv), (b)-(ii), (0)-(i), (d)-(ii
O (@)-(ii), (b)-(i), (0)-(ii), (d)-(iv
(@)-(iv), (b)-(iii), (0)-(ii), (d)-(i
E) 3 aRd 99

)
)
)
)

$% DB29
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59.

60.

61.

62.

63.

64.

65.

frffEa A Y F- AT T H TS AR & 2

(A) (B) w1
(D) arfe

T
© @ER

(B)  IrTana wed
“Terer’ T el e TS &
(A) et

Q) amey

(B)  Irana ued
AT FCHET TR AT E :
A) = H ST BT AT

o
freaer

(B)
(D)

(
(B) T H AT AT

(C) S BT eR-3eR AT

(D) =T gUT-TeR AT

(B)  Iranad ueH

ferfetira eTsst # & FHgaTaS T HTISEIUE :
(B) e

(D)  @wT

(A)  wEI

©

(B)  Irana ued
‘e’ 9Teg # T T T & :

(A) TP (B) T

© T* D) =

(B)  IrIana wed

“ 3T T ST ATH TIAIE BT BT T E -
(A)  37er e BT EHMER BT

(B) T[Tt & fares AT &1
(C)  T[oTi & QT FET BT
37 rfer T IOt BT
(B)  Irana wed
et & & fogersT ors2 7 -
(A)  Tafegam (B)
Q) dgem (D)
(B)  3raRd ued

ESE
EUST)



66.

67.

68.

Choose the most appropriate option to convert
the given sentence from Active to Passive Voice :

People consider him to be a fair judge.

(A) Hisjudgement is considered to be fair.

—~

B) Heis considered by people to fairly judge.
C) Itis hoped that he is a fair judge.

He is considered to be a fair judge.

(
(D)
(E)  Question not attempted

Choose the most appropriate option to convert
the given Assertive sentence to an Exclamatory
sentence :

I ardently wish to have a small house to live in
Goa.

(A) Itismy wish to live in a small house in Goa.
(B) How Iwish for a small house to live in Goa!
(C)  What a pity! I do not have a small house to
live in Goa!
(D)  What a small house in Goa!
(E)  Question not attempted
Fill in the blanks by matching List-I with List-II :
List-I List-II
(@) |They willreturn__ (i) |below
6 p.m.
(b) | You must atone (i) |till
your sins.
(c) |Theylive___ us. (iii) | for
(d) [Hestudied 11 p.m. |(iv) |by

Choose the correct answer from the options given
below :

(A)  (@)-(1), (b)-(ii), (c)~(iii), (d)-(iv)
(B)  (a)-(ii), (b)-(iv), (c)-(iii), (d)-(0)
©  (@)-(@v), (b)-(iii), (c)-(1), (d)-(ii)
(D) (@)-(@iv), (b)-(0), (c)-(ii), (d)-(ii)
(E)  Question not attempted

$% DB29
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69.

70.

71.

72.

Convert the following sentence from Hindi to
English :

H ISTHA AT HE |
Choose the most appropriate answer from the
options given below :

(A) Iam stressed these days.

(B) Iam tensed today.

(C©) IwishIcould just relax.

(D) Iam stressed about something.
(E)  Question not attempted

Choose the most appropriate option to convert
the given sentence from Indirect to Direct
Speech :

This morning, he said that he would leave for
Hyderabad the next day.

(A) This morning, he said, “I may leave for
Hyderabad tomorrow.”

(B) That morning, he said, “I will have left for
Hyderabad the next day.”

(C) This morning, he said, “I will leave for
Hyderabad tomorrow.”

(D)  This morning, he said, “He will leave for
Hyderabad the following day.”

(E)  Question not attempted

Choose the most appropriate option to convert
the given Interrogative sentence to an Assertive
sentence :

Was he not kind to help you ?

(A) He was kind enough to help you.

(B)  He has displayed kindness, has he not ?

(©)  What a kind man he is!

(D) Heissokind that he decided to help you in
that difficult situation.

(E)  Question not attempted

Fill in the blank in the following sentence with the
most suitable article.

news you broke to your wife made her
nervous and she broke down.

(A) The (B) An

< A (D)  No article
required

(E)  Question not attempted

P.T.O.



73.

74.

75.

76.

Fill in the blank with an appropriate determiner :

milk is left in the bottle ?

(A) Any (B) Some
(©) How many (D) How much
(E)  Question not attempted

Choose the most appropriate option to convert
the given Assertive sentence to a Negative
sentence :

The fort was demolished before it was

surrendered.

(A)  The fort was demolished and surrendered.

(B)  The fort was not surrendered until it was
demolished.

(C) The fort was neither demolished nor
surrendered.

(D) The fort was surrendered before it was
demolished.

(E)  Question not attempted

What is the official / technical term for “Complaint
or a cause for complaint” ?

(A) Publication (B) Sadness
(C)  Provision (D)  Grievance
(E)  Question not attempted

Choose the most appropriate option to replace
the underlined part of the following sentence in
order to make it grammatically correct :

Amrita didn’t knew my address.

(A)  no correction needed
(B) didn’thad

(©) didn’t known

(D) didn’t know

(E)  Question not attempted

$% DB29
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77.

78.

79.

80.

Choose the suitable word to fill in the blank in the
following sentence :

I wish to my ties with that
organization.

(A) surreal (B)  severe

(C) sever (D) several

(E)  Question not attempted

Choose the option with the correct use of
punctuation(s) :

(A)  The sun having risen : we left for the town.
(B) “Iam going tomorrow he” said.

(C)  Prashant likes croissant doesn’t he ?

(D) We need snacks, drinks and lights.

(E)  Question not attempted

Fill in the blank in the following sentence with the
correct tense :

I for jobs on jobhunt.com these days
with the hope that I might get called for
interviews.

(A)  have applied

(B)  applying

(C©)  have been applying

(D) has applied

(E)  Question not attempted

Convert the following sentence from English to
Hindi :
Dr. Gupta will buy the house that I built last year.

(A) B IAI R AT N R AT RE |

(B) . A TE B WIS [T STt A (el /e
AT |

(©) S ITaT e TR TG ST H el e a=TT
a7 |

(D) .3 = 3 HR &R |

(E)  Question not attempted



81. faATTREd # | HI-|T SMHTOT TSR T 379
BT H TEAT & 2
(A) = (B) wxwt
© Eger (D) =
(B)  3rgana e
82. 2011 I FTTOAT o THIX, TSTEATH H ATHIT &7 |
TTAD/TTIABT (0-6 T THE ) T TTdT o7 :
(A) 911 (B) 874
©) 892 (D) 933
(B)  3rqaRa e
83. T fershar = I T 5,700 TIF H < | TH T T
I 14% T ATH FIM IR T X 39 5% &N g5 1 39
T AT H I ZI ATH 7T &1 FTT2el 71t ¥ |
N 3% % (B) @TH11%
7 0, lo
© I (D) 4%
(B)  3raRd e
84. IORATM TS 2025-26 F JMAR, TH H Fpaw
MhIee ToAoEd & AT HY AT TS TR 2
(A) 20 (B) 15
© 8 O) 9
(B)  3rqaRa e
85.  TSTEATH ITUT FiT frAteriad ® ¥ e Tou/9
-7 % T AT HIATE ?
(A)  TeRTae yRer (B)  dsir
©) wERTSg (D)  feeett
(B)  3rqaRa e
86. T H ¥ PHIA-HT TCTEATH H 57 HHGTT HT qaH TLT
HAT E ST ISR T H AATATATE ?
(A) AR HaT
(B)  TEwlt FHeuToTSH HAT
(© it HErERs Hel
(D) U T HeAT
(B)  3rqaid e
% DB29 15

86.

Which one of the following articles of jewellery is
worn by Rajasthani men in their ears ?

(A) Mundri (B) Murki
(©) Hansuli (D) Choonp
(E)  Question not attempted

In the rural area of the Rajasthan, the sex-ratio of
(0-6 age group) of children (female/1000 males) in
2011 was :

(A) 911 (B) 874
(© 892 (D) 933
(E)  Question not attempted

A dealer sold two items for ¥ 5,700 each. On one
item he gained 14% and on the other item he lost
5%. Find his profit or loss percentage in the whole
transaction.

(B) Profit11%

2
(A) Loss 3— %
11
L7
(C) Profit 3— %
11

(E)

1
(D) Profit 45 %
Question not attempted

According to the Rajasthan Budget 2025-26, how
many greenfield expressways are planned to be
constructed in the State ?

(A) 20 (B) 15
© 8 D) 9
(E)  Question not attempted

Rajasthan shares its boundary with which one of the
following States/Union Territories ?

(A) Himachal Pradesh (B) Punjab
(©) Maharashtra (D) Delhi
(E)  Question not attempted

Which of the following is the largest Jain fair in
Rajasthan that is celebrated in Chandanpur
village ?

A)  Bhartrihari Fair

(
(B) Diggi Kalyanji Fair
(C)  Shri Mahavirji Fair
(D)  Kapil Muni Fair

(E)  Question not attempted

P.T.O.



87.

88.

89.

90.

91.

fertferia & @ i forartaa sioft  Gereps 3t @at
H 3P ARIETHT & [T 2024 F FroME RN H
T FpT T S 9

(A) S e
(B)  SHifq IRiSTt
(©) wSERE=
(D) ST

(B) 31 aRd e

T feremera § TS fepat 1 6T, fig el B =T H 25%
3rferes 3 o ferenfira #t a d@m 1620 % 1 37 60 31X
TASTRAT [TaTer™ | YT Sdl & qUT 80 g Toaed

[T ST T :

(A)  39:41 (B) 20:21
© 2:3 (D) 33:49
(B)  3rIana wed

ATEHATRE TE (Microsoft Word) H TITd ToRe T

i TS dacTd b [oTT Bie AT T Tl Hi

SifEhe Hotl BI-ATE 2

(A) Ctl+V

(B) Ctrl+P

(C)  Shift+F

(D)  Ctrl + Shift + P

(B) 31 aRd e

Teha= THY | PSR WTEMOT TS 92 10% D
T T B A T[T B ST 2

(A) 25a9 (B) 30ad
© 1599 (D) 20a9
(B) 3 aRd e

TSTRATA o AL HATS 41 H Tt 3R o6l GTRT Tk |
AT S AT [T A EAN el 68 woE™
A HATIAE 2

(A) o (B) T
© weRar (D)  tet
(B)  3rIand wed
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88.

90.

91.

Who among the following is the recipient of
Dronacharya Award for outstanding coaches in
Sports and Games - 2024 under regular category ?

(A) Jarmanpreet Singh

(B)  Jyothi Yarraji

(C)  Sandeep Sangwan

(D) Annu Rani

(E)  Question not attempted

In a school, the number of girls is 25% more than
that of boys and the total number of students is
1620. If 60 more girls are admitted and 80 boys leave
the school, then the ratio of number of boys to that
of girls will be :

39:41 (B)
2:3 (D)

Question not attempted

20:21
33:49

Which Shortcut key is used for opening the Font
Size Box in Microsoft Word to change the Font Size
of selected text ?

(A) Cul+V

(B) Ctl+P

(C) Shift+F

(D)  Ctrl + Shift + P

(E)  Question not attempted

In how much time, a sum of money becomes three
times of itself at a rate of 10% per annum simple
interest ?

(A)
©
(E)

25 years (B)

(D)

30 years
15 years 20 years

Question not attempted

The famous folk song ‘Humseedo” sung by both
males and females together in the Northern Mewar
region of Rajasthan, belongs to which community ?
(A)
©
(E)

Meena

Bhil

Garasia

(B)
Sahariya (D)

Question not attempted



92. ‘R ol BT’ H Tt ‘qRY 3R ‘et Tohaw
TAIH S ?
(A) T3 FET
(B) T FICT
(C) TG ITOTST 3T g+
(D)  fora 3R Ut
(B)  3rfana e
93. &I WEH B ‘HES’ qul FrieriEd # ¥ feuw
a2
(A) ST Y W T A BT
(B)  Sheror-ufeas A=A
©  FEeTEE
(D) gt faemw
(B) 3raRd wed
94. TY 2025 H TERAT ¥ HHTaRad § ¥ 6 o= ot
T T §3 8 ?
(A)  IrafqaERT
(B) TATHRX
©) wHEA
(D)  cTTEl qUT
(B)  3rfana e
95.  “STOUY Be” (P W) Frw uis situmufes o &
ARTELT # faesta fpam T o 2
(A) ShdtFmaa (B)  ShaE Hear
(©) =T 3rens uTeaT (D) SF. 9.3, ¥t
(B)  3rfana e
96. T FST BT AT W, A T3 1 JURYT & HROT
RLIES
(A)  HIEH FBEHE
(B) wifsTw AT
Q) e NrTES
(D) TSI & IS
(B)  3raRd wed
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93.

94.

In the “Turra Kalangi Khyal” what do the famous
‘Turra’ and ‘Kalangi’ symbolize ?

(A) Radha and Krishna

(B) Ram and Sita

(©) Lord Ganesh and Lakshmi

(D)  Shiva and Parvati

(E)  Question not attempted

The ‘Mavath’ rainfall of the Rabi season, is

associated with which one of the following ?

>

(A) Bay of Bengal Monsoonal Winds
(B)  South-West Monsoon

©
(

(

North-East Monsoon

o

) Western disturbances

E)  Question not attempted

Who among the following is the Padma Shri
awardee for the year 2025 from Rajasthan ?

(A) Avani Lekhara

(B) Munna Master

(C) Begum Batool

(D)  Gulabo Sapera

(E)  Question not attempted

The “Jaipur Foot”, a prosthetic limb, was developed
under the guidance of which renowned Orthopedic
Surgeon ?

(A) Dr.B.K. Goyal (B) D.R. Mehta
(C)  Dr. Ashok (D) Dr. P.K. Sethi
Panagariya

(E)

Question not attempted

The red colour of red soil is primarily due to the
presence of :

(A) Calcium carbonate

(B)  Sodium nitrate

(C©)  Okxides of iron

(D)  Oxides of nitrogen

(E)  Question not attempted

P.T.O.



97.

98.

99.

100.

101.

$% DB29

TSTRATA T ferTmT 5t e RAie 2024-25 % 3T,
TATaRgd a1 7 o [6aH o a7 A%, FATUS
g9

TrrTTeTRE Tarehedt # & W SUgaR ST I
(A) zi® (B) 3T
(C©) IR (D) TSEHE

(B)  3rqand e

TSTEATA & AT §dl, T, qA-89 F 77 19 6
ATEF Y :

T
PFACTTS

(B)
(D)

TATENTE
ITART qeA
SIS I, Fame a7 M B I H 3 - 4 BT 3T AT

T I U 3T MG H 7 : 9 T 3TAT BRI | 37
B ITH ST FTE 2

(A) 27°d (B) 25°W
© 2699 (D) 2479

(B)  3raRd e

SR ST HT TEAFH AL

(A)  NayCOs (B) CaSOy
(C) CaOCl, (D) NaHCO,
(B)  3raRd e

T - TN TG U & §3H H, UDMA 10T &
FATE ?

(A) 31T TESIET HASTRI TSTATETT

(B) 37 TSIt HASTHE 3TATRaT

©)  FHIIA FEARCY FAIRTA TR

(D)

(E)

FATSCE fESTReY HAsTHe TATRet

AR T
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97.

99.

100.

101.

According to Rajasthan Forest Department Annual
Report 2024-25, which of the following regions has
maximum total forest area ?

Choose the most appropriate answer from the

options given below :
(A) Tonk (B)

(D)

Udaipur
©
(E)

Ajmer Rajsamand

Question not attempted

The important saint of Rajasthan, Pipa, was
originally a ruler of :

(A) Bhangarh (B)

(D)

Gagron
©
(E)

Lohagarh Kumbhalgarh

Question not attempted

Two years ago, the ratio of ages of Vinay and Ashu
was 3 : 4. One year hence, the ratio of their ages will
be 7 : 9. What is the present age of Ashu ?

(A)

27 years (B)

(D)

25 years
©
(E)

26 years 24 years

Question not attempted

The chemical formula of Baking Soda is :

(A)  NapyCOs (B) CaSOy4
(© CalOCly (D) NaHCO;5
(E)  Question not attempted

In the context of State-level disaster management,
what is the full-form of UDMA ?

(A)  Urban Disaster Managerial Administration

(B)  Urban Disaster Management Authority

(©)  Universal Disaster Managerial
Administration

(D)  United Disaster Management Authority

Question not attempted



102.

103.

104.

105.

106.

$% DB29

“Searg aRada” F v ffataa #§ 9, feast|102.
BT HAT ST S ?
TrreTE Tarshedt # ¥ W SagE STX I
(A)  3TaRer | SebT AT e BT IGAT
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“Climate change” is considered a causal factor of
which of the following phenomena ?

Choose the most appropriate answer from the
options given below :

(A) Increased meteor activity in the outer space
(B) Increased glacier formation in the Himalayas
(C)  Extreme weather events

(D)  Low risk of species extinction

(E)  Question not attempted

Study the graph and answer the following
question :

Production of Raw wool (in Metric Tonnes)

80 +
76

75 + 73
70 + 68

65

65 +
60 +

55 +

50 -

2013-14 2014-15 2015-16 2016-17 2017-18 2018-19 2019-20 2020-21

The maximum rise in the production of raw wool
with respect to previous year :

(A) 2019-20 (B) 2017-18
(©) 2020-21 (D) 2016-17
(E)  Question not attempted

The iconic song of Rajasthan - “Dharti Dhoran

Ri” - was written by :

(A) Paras Arora

(B) Meghraj Mukul

(©) Kanhaiyalal Sethia

(D)  Satyaprakash Joshi

(E)  Question not attempted

The collapse of which bridge in Kota in 2009 caused
a major infrastructural disaster ?

(A) Sattapol Bridge

(B)  Chandpole Bridge

(C) Daiji Bridge

(D) Chambeal Bridge

(E)  Question not attempted

The ‘Vijay Stambha’ built by Maharana Kumbha is
found in which one of the following forts ?

(A) Jaigarh (B) Kumbhalgarh
(C©)  Chittorgarh (D) Junagarh
(E)  Question not attempted
P.T.O.
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(A) 50 (B) 65

(C) 55 (D) 40

(B) 3 aRd e

3R E1.37E. JATUTTIH (2005) HF TR H T 767
ST ¥ AT & Tehe [0 BT T AT E 7
(A)  emT12 (B) «mr3

© a4 (D) T8

(B) 3raRd wed

15 STERY 2025 Tt AT fSaw Bal a7 ?
(A)  TETEET (B) Ut

© focert (D) AR

(B) 3raRd wed

u'%x+y=10,y+z=8 3ﬁ?z+x=24%,?‘ﬁx, Yy ﬁ?z
Eh‘raﬁw%:

(A) 14 B) 7
© 10 D) 9
(B)  3rqaRd e

Frrefariad | & B-w Sae TS B TEhE Ao qE
g9

(A)  =TE (B) T
(© Ut (D)  #reiiier
(B)  3rqaRd e

TH.0H, TR |, efaigd § ¥ Si-97 bR
FehTie & ATeh TEeT H Shict B TAY fafire it
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(A) T qHT

(B) wEHT

©) wauw

(D) eI TRITeT
(B) 3raRd wed

107. Riya scored 25% marks in an examination and failed

108.

109.

110.

111.

112.

20

by 15 marks while Nancy scored 40% marks in the
same examination and got 15 marks more than the
minimum passing marks. The minimum passing
marks are :

(A) 50 (B)
© 55 (D)
(E)  Question not attempted

65
40

Which of the following sections of the RTI Act
(2005) has the provision for exemption from
disclosure of information ?

(A) Section 12 (B)
© (D)
(E)  Question not attempted

Section 3

Section 4 Section 8

Where was Army Day celebrated on 15 January
20257

(A)
©
(E)

Guwabhati Pune

Delhi

(B)
(D)

Question not attempted

Bangalore

If x+y=10, y+z=_8 and z +x =24, then the average
ofx,yand zis:

A) 14 B) 7
© 10 D) 9
(E)  Question not attempted

Which of the following rivers is not a tributary of
the river Chambal ?

Mahi
Parbati

Banas

Kalisindh

(A) (B)
(D)
Question not attempted

(E)

In MS Excel, which of the following functions
allows one to keep specific rows and/or columns
visible while scrolling through the rest of the
worksheet ?

A)  Smart lookup

(
(B)  Custom View
(C)  Freeze Panes
(D)
(

E)  Question not attempted

Synchronous Scrolling
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113.

114.

115.

116.

Which one of the following is not a main feature of
Rajasthani painting ?

Choose the most appropriate answer from the
options given below :

(A) Vivid depiction of natural as well as feminine
beauty gives Rajasthani painting a distinct
identity

(B) Use of vibrant colours in the portrayal of
‘bhakti” and ‘shringaar” in paintings

(C©) Rajasthani painting is not publicly displayed

in palaces, forts, temples and havelis

(D)  The amatory (sringarik) depiction of seasons

and their impact on human life

(E)

Question not attempted

Which of the following pairs of enzyme and site of
synthesis is NOT correctly matched ?

(A) Intestine - Maltase

(B)  Salivary gland - Amylase
(©) Kidneys - Trypsin

(D) Liver - Bile

(E)  Question not attempted

The most important ancient “Jeen Mata Temple” in
Rajasthan, is located near :

Choose the most appropriate answer from the
options given below :

(A)
©
(E)

Sikar
Churu

Bikaner

(B)

Jhunjhunu (D)

Question not attempted

A and B together can do a work in 10 days; B and C
together can do the same work in 12 days whereas
A and C together can do it in 15 days. How long will
A, B and C take to do the work if they work
together ?

(A)

1
85 days (B) 7days

©

(E)

1
75 days (D) 8days

Question not attempted

P.T.O.
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The famous lake of Rajasthan which was used as a
sea-plane base for about 6 years during World
War-II is :

(A)  Nakki

(B)  Pichola

(C©) Anasagar

(D) Rajsamand

(E)  Question not attempted

A man bought some sweets at the rate of 4 for ¥ 21
and sold them at the rate of 2 for ¥ 13. In the whole
transaction he gained X 180. How many sweets did
he buy ?

(A) 132
(C) 144

(E)

150
140

(B)
(D)

Question not attempted

According to the 2011 Census, which of the
following districts had a literacy rate above 75% ?
(A)

Alwar Jaisalmer

(B)

Jalore (D) Kota

(E)

Question not attempted

In 1615, the Mewar-Mughal treaty was signed
between Jahangir and :

(A) Maharana Kumbha

(B) Maharana Raj Singh
(©) Rana Amar Singh-I

(D) Rana Uday Singh

(E)  Question not attempted
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